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NEW QUESTION 1
Which two protocols does the Cisco IM Presence service use to federate with external domains? (Choose two.)

A. XMPP
B. SNMP
C. SIP
D. SCCP
E. SMPP

Answer: AC

NEW QUESTION 2
Drag and drop the SAML components from the left onto the descriptions on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 
Graphical user interface Description automatically generated with medium confidence

NEW QUESTION 3
An engineer is configuring a Jabber client installation switch for a phone system using Cisco UCM as the registration server, with a softphone control address of
10.0.1.200. and configuration files received from 10.11.20.201 after all previous configurations are cleared. Drag and drop the snippets from the bottom of the
image onto the blanks in the image to complete this configuration. Not all options are used.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 4
After integrating Cisco Unity Express with Cisco Unified Communications Manager Express, users report that the system does not respond to their digit presses.
Which two configuration snippets resolve this issue? (Choose two.)
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A. dial-peer voice 6800 voip destination-pattern 5... session protocol sipv2 session target ipv4:10.3.6.127 dtmf-relay sip-kpmlcodec g729r8
B. dial-peer voice 6800 voip destination-pattern 5... session protocol sipv2 session target ipv4:10.3.6.127 dtmf-relay sip-notifycodec g711ulaw
C. dial-peer voice 6800 voip destination-pattern 5... session protocol sipv2 session target ipv4:10.3.6.127 dtmf-relay rtp-ntecodec g711ulaw
D. dial-peer voice 6800 voip destination-pattern 5... session protocol sipv2 session target ipv4:10.3.6.127 dtmf-relay sip-kpmlcodec g711ulaw
E. dial-peer voice 6800 voip destination-pattern 5... session protocol sipv2 session target ipv4:10.3.6.127 dtmf-relay sip-notifycodec g729r8

Answer: BC

NEW QUESTION 5
An engineer is asked to configure cisco jabber for windows on-premises, in phone-only mode and later with cisco IM and presence. In the configuration steps,
which two DNS records will be needed, assuming the jabber client is in “domain.com?’ (Choose two.)

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: AE

NEW QUESTION 6
An engineer is configuring DNS for service discovery in a jabber deployment for On-premises Clients. Which snippet will complete the SRV record name _
tcp.example.com?

A. _cisco_uds
B. _collab_edge
C. _xmp
D. server
E. _xmpp-client

Answer: A

NEW QUESTION 7
Which SAML component specifies the mapping of SAML assertion protocol message exchanges with standard messaging formats or communication protocols
such as SOAP exchanges?

A. SAML binding
B. SAML assertion
C. SAML profiles
D. SAML protocol

Answer: A

NEW QUESTION 8
Which two Cisco Unity Connection logs are used to troubleshoot issues with Message Waiting Indicators? (Choose two.)

A. Connection IMAP Server
B. Connection Mailbox Sync
C. Connection Notifier
D. Connection Message Transfer Agent
E. Connection Conversation Manager

Answer: CE

Explanation: 
https://www.cisco.com/c/en/us/td/docs/voice_ip_comm/connection/11x/troubleshooting/guide/b_11xcuctsg/b_1

NEW QUESTION 9
Refer to the exhibit.
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When troubleshooting an internal Jabber login problem, there is a pop-up about a certificate error, and then the login fails The FQDN of Cisco UCM is
cucm.ex.com. and the FODN of the IM and Presence Server is imp.ex.com. Which two actions should be taken to fix this issue? (Choose two.)

A. Sign the Cisco Untried IM and Presence server certificate with trusted a trusted
B. Import the certificate of cucm.ex.com into the Trusted Certificate Authorities on the PC running Jabber.
C. Import the Cisco UCM CallManager certificate into the Trusted Certificate Authorities on the PC running Jabber
D. Sign the Cisco UCM CallManager certificate with a trusted certificate authority.
E. Sign the Cisco UCM tomcat certificate with a trusted certificate authority.

Answer: BD

NEW QUESTION 10
In the integration of Cisco Unity Connection using SIP, which SIP trunk security profile option is required for MWI to work correctly?

A. Accept out-of-dialog refer
B. Accept replaces header
C. Accept unsolicited notification
D. Accept presence subscription

Answer: C

NEW QUESTION 10
Drag and drop the events for an on-premises Jabber SAML SSO flow from the left into the correct order on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 
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NEW QUESTION 12
An engineer is checking the Cisco Unified Communications Manager and Cisco Unity Connection integration and presses the Message button on a phone to check
the voicemail. Which action does Cisco Unified CM take?

A. Cisco Unified CM looks up the voicemail pilot configured to dial.
B. Cisco Unified CM routes the configured hunt pilot to Unity Connection.
C. Cisco Unified CM looks up the hunt pilot configured to dial.
D. Cisco Unified CM sends an AXL query to Unity Connection.

Answer: A

NEW QUESTION 17
Refer to the exhibit.

User A tries to log in to the Cisco Jabber client, the login works fine, but the user cannot see their
self-presence or other users' presence in their contact list. The administrator checks the Cisco IM and Presence Server logs and sees an issue. What is the issue,
and bow does It get resolved?

A. The user credentials are incorrect; ask the user to change the credentials.
B. The user is duplicated in another Cisco IM and Presence cluster; unassign the user from the duplicate IM and Presence cluster.
C. Presence has stopped working for the user; unassign and reassign the end-user to Cisco IM and Presence.
D. The Cisco IM and Presence Server has CPU/memory issues; restart the IM and Presence Server.

Answer: B

NEW QUESTION 22
Which statement about SIP federation between Cisco Unified Communications IM and Presence and Microsoft Skype for Business is true?

A. Add the federated user as a contact in Jabber to view its presence status.
B. The role of SIP Proxy service is to process the XMPP packet in from Jabber and convert it to SIP.
C. TLS is optional.
D. Use of directory URI as an IM addressing scheme is not supported.

Answer: A

NEW QUESTION 24
Refer to the exhibit.
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Which statement is true?

A. If the IM&P node in sub-cluster-1 goes down, then users assigned to it are randomly split between the two remaining subclusters.
B. The administrator must add one node to each subcluster for high availability.
C. IM&P nodes in each subscluster must be configured from the same OVA template.
D. Each Cisco IM&P subcluster must have the same number of nodes.

Answer: B

NEW QUESTION 26
An administrator is configuring Cisco Jabber 12.8 to work with Cisco UCM and Cisco IM and Presence 12.5 using an encrypted SIP profile. Which record should
be configured for Jabber to work when logging into the corporate network with the domain "domain.com?

A. DNS SRV query _sip._tcp.domain.com
B. DNS SRV query _cisco-uds._tls.domain.com
C. DNS SRV query _cisco-uds._tcp.domain.com
D. DNS SRV query _sip._tls.domain.com

Answer: C

NEW QUESTION 28
Which two SSO features are true? (Choose two.)

A. allows Jabber to use LDAP directory services for contact imports
B. allows LDAP user import on Cisco Unified Communications Manager
C. improves productivity by reducing time spent re-entering credentials for the same identity
D. transfers the authentication from the system that hosts the applications to a third-party system
E. reduces costs by decreasing the number of help calls that are made for voicemail PIN resets

Answer: CD

NEW QUESTION 29
An engineer is configuring Cisco Unity Connection to provide messaging services and needs to designate a set of phone numbers to be used for transferring calls
within the organization to prevent toll fraud. Which mechanism in Cisco Unity Connection should be modified to accomplish this goal?

A. restriction tables
B. calling search spaces
C. transfer rules
D. fraud tables

Answer: A

NEW QUESTION 30
What submits credentials to the LDAP server during a call that uses SAML SSO?

A. Cisco UCM server
B. Service provider
C. Browser-based Client
D. IdP

Answer: D

NEW QUESTION 33
A collaboration engineer is configuring SIP interdomain federation for Cisco IM and Presence. The external domain cannot be discovered using DNS SRV. If the
external enterprise domain is ciscocollab.com, what destination pattem should the engineer use for a static route?

A. com.ciscocollab.*
B. _sipfederationtls._tcp.ciscocollab.com
C. *.ciscocollab.com,*
D. .ciscocollab.com

Answer: B
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NEW QUESTION 36
Refer to Exhibit.

An engineer is troubleshooting operation performance in the network. Which account should be taken to restore high availability in the sub cluster?

A. Start all critical services on the second node, and select the Fallback button in the “Presence Redundancy Group Configuration”
B. Go to “Presence Redundancy Group Configuration” on the Cisco UCM Administration page and select the Fallback button.
C. Start all critical services on both nodes and select “rebalance users” in the “Presence User Assignment”
D. Go to “Presence User Agreement” on the Cisco UCM Administration page and select “rebalance users” for all users.

Answer: A

NEW QUESTION 41
Fraudulent calls are being made from Cisco Unity Connection. Which action prevents the calls from reaching the PSTN using SCCP integration?

A. Change the configuration of the routing rule.
B. Change the CSS of the voicemail port.
C. Change the Rerouting CSS on the trunk to Cisco Unity Connection.
D. Remove values from restriction table.

Answer: B

NEW QUESTION 42
Refer to the exhibit.

A collaboration engineer is troubleshooting an alarm that indicates that there are duplicate user IDs. Which two actions resolve this issue? (Choose two.)

A. Rename the user ID value for one user if different users on different clusters have the same user ID assigned
B. Delete the user ID for the duplicate user ID
C. Rename the directory URI value for one of the users to ensure that there is no duplication.
D. Assign the duplicate user to the secondary Cisco IM and Presence node
E. Unassign a user from one of the dusters when the same user is assigned to two different dusters

Answer: AC

NEW QUESTION 47
Refer to the exhibit.

Users report that they cannot see the Chat Rooms icon on their Cisco Jabber clients. This feature works without issue in the lab. An engineer reviews the Cisco
IM&P and Jabber configuration and finds that the jabber-config.xml file is configured properly to support this feature. Which activity should be performed on the
IM&P server to resolve this issue?
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A. Activate Cisco XCP Connection Manager in Cisco Unified Serviceability > Tools > Service Activation.
B. Restart Cisco XCP Message Archiver in Cisco Unified Serviceability > Tools > Control Center – Feature Services.
C. Restart XCP Text Conference Manager in Cisco Unified Serviceability > Tools > Control Center – Network Services.
D. Activate XCP Text Conference Manager in Cisco Unified Serviceability > Tools > Service Activation.

Answer: D

NEW QUESTION 49
An administrator must Implement toll-fraud prevention on Cisco Unity Connection by using restricted tables. Which action accomplishes this task?

A. Block all numbers that start with 999*.
B. Allow calls to international operators and conference rooms only.
C. Permit calls only to specific domestic long-distance area codes.
D. Allow calls to the international operator only.

Answer: C

NEW QUESTION 50
Which two authentication methods does Integrated Windows Authentication use to validate Windows credentials? (Choose two.)

A. NTLM
B. Digest Authentication
C. SAML
D. Kerberos
E. Smart Card

Answer: CD

NEW QUESTION 51
Users on Cisco.com experience issues while using Cisco Jabber, and the error 'Cannot communicate with the server" appears. An engineer checks the logs for the
Jabber client and discovers the error "LERR_JABBER_AUTH <17>: Authentication error with server e.g. resource bind, TLS, create a session or SASL error. What
should be checked to resolve this issue?

A. if the LDAP server Is reachable and if port 443 Is open
B. if cup-xmpp certificates are valid and if port 8443 is open
C. if the cup-xmpp certificates are valid and if port 5222 is open
D. if the LDAP server Is reachable and If port 5222 Is open

Answer: C

NEW QUESTION 56
In Digital Network Cisco Unity Connection clusters, each site transmits and receives messages for the recipients based on which protocol?

A. IMAP
B. SMTP
C. SIP
D. SCCP

Answer: B

NEW QUESTION 59
Which SIP request type is used by Cisco Unity Connection to inform Cisco Unified Communications manager that the Message Waiting Indicator must be turned
on or off for a specific line?

A. NOTIFY
B. UPDATE
C. SUBSCRIBE
D. PUBLISH

Answer: A

NEW QUESTION 61
Which two command line arguments can you specify when installing Cisco Jabber for windows? (Choose two.)

A. CISCO_UDS_DOMAIN
B. TFTP_ADDRESS
C. VOICEMAIL_SERVER_ADDRESS
D. SERVICES_DOMAIN
E. TFTP

Answer: DE

NEW QUESTION 63
What are two authentication mechanisms for identity provider authentication? (Choose two.)
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A. UID
B. PKI/CAC
C. ACS
D. Password only
E. Kerberos

Answer: BC

NEW QUESTION 66
Refer to the exhibit.

A Jabber user is unable to access voicemail. During troubleshooting, an administrator captures this screenshot. What are the two ways to resolve this issue?
(Choose two.)

A. Ask the user to click on the Connect to a device" button and use the correct username and password.
B. Ensure the user is not locally created on Cisco Unity Connection with a password expiring separately from the password that is used for Jabber.
C. Make sure the Jabber service profile created in Cisco UCM contains Unity Connection UC service with a voicemail server configured.
D. Ask an administrator to create an account for this user in Cisco Unity Connection but remove the Unity Connection UC service from the Cisco UCM Jabber
service profile.Check if "OAuth with Refresh Login Flow” is enabled on Cisco Unity Connection but disabled in Cisco UCM.

Answer: AB

NEW QUESTION 69
Refer to the exhibit.

An administrator troubleshoots push notifications, and Cisco TAC requests the trace files from the cluster. From which location should the files be collected?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 73
Cisco Unity connection ports on cisco UCM are not registering. An engineer receives a packet capture of the link between the two servers to troubleshoot. In which
port will this problem be resolved?

A. TCP 1720
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B. TCP 2000
C. TCP 5060
D. TCP 2427

Answer: B

NEW QUESTION 75
When Cisco IM and Presence is configured to use automatic fallback, how long does the Server Recovery Manager service wait for a failed service/server to
remain active before an automatic fallback is initiated?

A. 10 minutes
B. 20 minutes
C. 30 minutes
D. 1 hour

Answer: C

NEW QUESTION 76
Refer to the exhibit.

Calls that are not answered by the user are for the location. If the user at extension 11112222 does not have a voice mailbox, which rule is utilized when Cisco
Unity Communication receives the forwarded call?

A. NewYork_AA
B. Attempt Sign In
C. Arizona_AA
D. Opening_Greeting

Answer: C

Explanation: 
"When Unity Connection receives a call, it first determines if it is a direct or forwarded call based on the call information that is sent by the phone system, and then
applies the applicable call routing table. If the call information matches all of the conditions for the first rule, the call is routed as specified in the rule. If any of
the conditions specified in the first rule are not met, the call information is then compared to the conditions of the second rule, and so on, until a rule is found that
matches all the characteristics of the call." https://www.cisco.com/c/en/us/td/docs/voice_ip_comm/connection/10x/administration/guide/10xcucsagx/10xcu

NEW QUESTION 78
Which operating system is supported for smart card-based authentication on Jabber and Cisco UCM platforms?

A. Mac OS
B. Linux
C. Chrome OS
D. Windows

Answer: D

NEW QUESTION 83
What is the maximum number of Cisco Unity Connection locations connected in a HTTPS network?
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A. 50
B. 25
C. 200
D. 10

Answer: B

NEW QUESTION 87
Refer to the exhibit.

A collaboration engineer has integrated Cisco Unity Express with Cisco Unified Communications Manager Express and is experimenting with the MWI feature.
With the current configuration, no MWI change occurs when leaving new messages or after playing new messages. Which two changes are needed to correct the
configuration? (Choose two.)

A. ccn subsystem sip mwi sip outcall
B. ccn subsystem sip mwi envelop-info
C. sip-uano mwi-servermwi-server ipv4:172.16.1.254 expires 3600 port 5060 transport udp
D. ccn subsystem sip mwi sub-notify
E. sip-uano mwi-servermwi-server ipv4:172.16.1.253 expires 3600 port 5060 transport tcp notify
F. sip-uano mwi-servermwi-server ipv4:172.16.1.253 expires 3600 port 5060 transport udp unsolicited

Answer: BC

NEW QUESTION 88
Which function of the Cisco IM and Presence high availability solution is true?

A. When the server has been restored to a normal state, user sessions remain on the backup server.
B. When an event takes place, the end user sessions are not moved from the failed server to the backup.
C. When the server has been restored, the server automatically fails back.
D. When a high availability event takes place, the end user sessions are moved from the failed server to the backup.

Answer: D

NEW QUESTION 91
Which dial-peer configuration routes calls from SIP-based phones on Cisco Unified Communications Manager Express to Cisco Unity Express?

A. dial-peer voice 7000 voip destination-pattern 7000 session protocol sipv2session target ipv4: 10.3.6.127 codec g711alaw
B. dial-peer voice 7000 voip destination-pattern 7000 session protocol sipv2session target ipv4: 10.3.6.127 codec ilbc
C. dial-peer voice 7000 voip destination-pattern 7000 session protocol sipv2session target ipv4: 10.3.6.127 codec g711ulaw
D. dial-peer voice 7000 voip destination-pattern 7000 session protocol sipv2session target ipv4: 10.3.6.127 codec g729r6

Answer: C

NEW QUESTION 93
Refer to the exhibit.
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Which two steps resolve the “Users with Duplicate User IDs” message? (Choose two.)

A. Rename the directory URI value for one of the users to ensure that there is no duplication.
B. Rename the User ID value for one user if different users on different clusters have the same User ID assigned.
C. Unassign a user from one of the clusters when the same user is assigned to two different clusters.
D. Assign the duplicate user to the secondary Cisco IM and Presence node.
E. Delete the user ID for the duplicate user ID.

Answer: BC

NEW QUESTION 94
A collaboration engineer is configuring LDAP integration for Cisco Unity Connection. The engineer has enabled the appropriate services and has completed the
LDAP setup and LDAP directory configuration administrative pages in Cisco Unity Connection. The engineer has also completed a Full LDAP synchronization.
What must the engineer do next to have the LDAP users appear in the Unity Connection Users page?

A. Configure the LDAP authentication settings under LDA
B. LDAP Authentication.
C. Synchronize the user accounts under Users - Synch Users.
D. Restart the Cisco DirSync service.
E. Import the user accounts under Users - Import Users.

Answer: D

NEW QUESTION 97
Refer to the exhibit.

An engineer assists a user who reports that the voicemall notifications show correctly on the desk phone are not available in the jabber client. Which action
resolves this issue?

A. Reset the Jabber client and have the user sign in again
B. Set the voicemail profile on the user’s line on the CSF device.
C. Configure the voicemail profile on the user’s service profile
D. Ensure that the voicemail server is listed in the user’s CTI profile

Answer: C

NEW QUESTION 100
When implementing dialing behavior in Cisco Unity Connection, which feature prevents calls to long-distance or international phone numbers?

A. restriction tables
B. calling search spaces
C. inbox profiles
D. partitions

Answer: A

NEW QUESTION 101
Which HTTP response code does Cisco UCM use to redirect a client to the identity provider for authentication?

A. 300
B. 301
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C. 302
D. 304

Answer: C

NEW QUESTION 104
What are two characteristics of HTTPS networking for Cisco Unity Connection? (Choose two)

A. HTTPS single-site networks are joined via an intersite link
B. HTTPS networking uses a ring topology
C. HTTPS networking supports a maximum of 25 locations
D. HTTPS networking uses the SMTP protocol
E. HTTPS networking supports multisite networks

Answer: CD

NEW QUESTION 109
When trying to send a call out of Cisco Unity Connection, what happens when enabling the transfer to an alternate contact number, located under caller input?

A. The restriction table is checked when an administrator changes the extension number via the Cisco Unity Connection admin page.
B. The restriction table is not checked when an administrator changes the extension number via the Cisco Unity Connection admin page.
C. The restriction table is not checked when a user changes the extension number via a TUI conversation.
D. The restriction table is not checked when a user changes extension number via the Cisco Unity Connection Cisco PCA page.

Answer: B

NEW QUESTION 112
A network engineer needs to configure high availability on the Cisco IM and presence cluster. After the configuration was completed and tested, the engineer
noticed on Cisco UCM that the IM and Presence publisher is in “Failed Over” state. Which set of steps must be taken to resolve this issue?

A. Cisco UCM Group Configuration > High Availability > click Fallback
B. BLF Presence Group Configuration > High Availability > select the publisher server > click Restart Services
C. BLF Presence Group Configuration > High Availability > click Fallback
D. Presence Redundancy Group Configuration > High Availability > click Fallback

Answer: D

NEW QUESTION 114
The calendaring integration on the Cisco IM and Presence server has not been functioning, which results in the “in a meeting” status not working in Cisco Jabber.
Which service log should the engineer use to troubleshoot this issue?

A. Cisco XCP Connection Manager
B. Cisco Jabber Problem Report
C. Cisco Presence Engine
D. Cisco SIP Proxy

Answer: B

NEW QUESTION 115
Which entity is a standard component used for authentication by SAML 2.0?

A. identity provider
B. session broker
C. Internet service provider
D. client access server

Answer: A

NEW QUESTION 120
Users report issues while logging in to their voicemail using the Voicemail tab in their Cisco Jabber clients. The issue occurs after users provide valid Cisco Unified
Communications credentials, but they receive a failure message. What is the cause of this issue?

A. A proper service profile is not configured on Cisco Unified Communications Manager.
B. The voicemail users are not configured in the Cisco Unity Connection server.
C. The web application voicemail password is set “User Must Change at Next Sign-in”.
D. The voicemail password is not set for all users.

Answer: C

Explanation: 
https://www.cisco.com/c/en/us/support/docs/unified-communications/jabber-windows/116517-problem-jabber-0

NEW QUESTION 121
Digital networking is configured between two Cisco Unity Connection clusters using an HTTPS connection. Which two objects are replicated between these two
clusters? (Choose two.)
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A. partitions and search spaces
B. user greetings
C. user templates and user greetings
D. call handlers
E. users and their corresponding mailboxes

Answer: AE

NEW QUESTION 122
An engineer is configuring SAML SSO for a Cisco Unified Communications Manager. After completing all required steps, the engineer wants to verify the status.
Which CLI command provides the status of SAML SSO?

A. utils sso status
B. show sso status
C. show saml status
D. utils saml status

Answer: A

NEW QUESTION 123
What is a step in the SAML SSO process?

A. The IdP redirects the SAML response to the browser.
B. The LDAP server extracts the assertion.
C. The service provider issues an authentication challenge to the browser.
D. The browser issues an HTTPS POST request to the IdP.

Answer: A

NEW QUESTION 128
A collaboration engineer is configuring service discovery for Cisco Jabber clients with an on-premises Cisco IM and Presence deployment Clients on the corporate
network are working Clients on the public internet cannot locate the corporate services What must the engineer configure to enable service discovery for these
clients?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 130
Which two child elements can be in an XMPP message stanza? (Choose two.)

A. <server/>
B. <error/>
C. <client/>
D. <body/>
E. <subject/>

Answer: DE

Explanation: 
As described under extended namespaces, a message stanza MAY contain any properly-namespaced child element.
In accordance with the default namespace declaration, by default a message stanza is qualified by the
'jabber:client' or 'jabber:server' namespace, which defines certain allowable children of message stanzas. If the message stanza is of type "error", it MUST include
an <error/> child; for details, see [XMPPCORE]. Otherwise, the message stanza MAY contain any of the following child elements without an explicit namespace
declaration:
<subject/>
<body/>
<thread/>

NEW QUESTION 131
Refer to the exhibit.
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An administrator is configuring the auto-attendant script for a Cisco Unity Express Integration to Cisco UCME and wants to play the “busOpenprompt” wave file
when il is not a holiday. How should the script be configured to accomplish this goal?

A. Check the Business Hours only if the "Is Holiday" prompt returns a "Yes".
B. Swap me Open and Closed branches in the script.
C. Check the Business Hours only if the "Is Holiday" prompt returns a "No".
D. Swap the “busOpenPrompt” with “busclosedPrompt”.

Answer: C

NEW QUESTION 133
A user encounters a problem while checking voicemail, set up in a Cisco UCME and Cisco Unity Express integration. The user reports that when calling the office
number from a mobile phone, the call goes to voicemail, but it is then routed to the main menu rather than the voicemail box. The user can check voicemail from
an office phone without any issues How is this issue fixed?

A. Assign the user to the correct user group.
B. Add the user to Cisco Unity Express.
C. Configure a primary E.164 number for the user.
D. Set "Login without PIN" to 'No" for the user.

Answer: B

NEW QUESTION 138
Refer to the exhibit

A collaboration engineer is troubleshooting an issue where a user is reporting that instant messages are not reaching the intended recipient The engineer is unable
to see the full instant message in the trace file In which trace in the transaction must the engineer resolve this issue?

A. XCP Router
B. Client Profile Agent
C. Presence Engine
D. XCP Connection Manager

Answer: A

NEW QUESTION 142
What are two Cisco Jabber 12.6 on-premises deployment types that can be run on a Windows-enabled PC? (Choose two.)

A. Contact Center Agent
B. IM-only
C. multicloud-based
D. Full UC
E. cloud-based

Answer: BD

NEW QUESTION 146
An end user opened a ticket, stating that before logging in to Jabber for Windows, a warning is displayed that a server certificate has expired. Which two
certificates must be verified on the Cisco Unified Communications Manager and IM&P deployment? (Choose two.)

A. capf on Cisco Unified CM
B. cup-xmpp on IM&P
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C. callmanager on Cisco Unified CM
D. tomcat on Cisco Unified CM
E. cup on IM&P

Answer: BD

Explanation: 
https://www.cisco.com/c/en/us/support/docs/unified-communications/unified-presence/116917-technote-certific

NEW QUESTION 150
A collaboration engineer is troubleshooting Apple push notification Issues and calls Cisco TAC for assistance. The Cisco TAC Engineer indicates that diagnostic
information has not been received for the cluster. Which action resolves this issue?

A. Temporarily enable manual downloads of log files from the Cisco Cloud Onboarding page on Cisco UCM.
B. Temporarily disable push notifications so that Cisco UCM can generate the diagnostics log files.
C. Enable "Send encrypted PII to the Cisco Cloud for troubleshooting" on the Cisco Cloud Onboarding Configuration page.
D. Enable "Send Troubleshooting Information to the Cisco Cloud" on the Cisco Cloud Onboarding Configuration page.

Answer: D

NEW QUESTION 152
Which authentication method allows a user to log in to an SSO-enabled Cisco Unified Communications application by utilizing a Microsoft Windows login, thereby
not requiring any credentials to be entered?

A. Smart Card
B. OAuth
C. form-based
D. Kerberos

Answer: D

Explanation: 
https://www.cisco.com/c/en/us/support/docs/unified-communications/jabber-windows/118773-configure-kerber The main advantage of Kerberos authentication
compared to the other authentication methods is that you do not need to provide your credentials when you log in to Cisco Jabber. If you use Kerberos, the client
does not prompt users for credentials, because authentication was already provided to gain access to the Windows desktop. This authentication method allows
you to log in to Cisco Jabber with your Microsoft Windows login.

NEW QUESTION 156
An engineer deploys Centralized Deployment for Cisco IM and Presence, where central IM and Presence runs version 12.0, and remote Cisco UCM clusters run
version 10.5. The engineer checks under System > Centralized Deployment and notes that Status remains UnSynchronized. What are two reasons for this status?
(Choose two.)

A. The Cisco UCM and IM and Presence cluster must be running at least version 11.5 to allow for Centralized Deployment.
B. The remote Cisco UCM cluster does not support OAuth Refresh Token flow.
C. This connection must be synchronized from the remote Cisco UCM Administration menu.
D. The username ana/or password of the application user that was provided for adding remote dusters to the central IM and Presence is incorrect.
E. The application user that is configured on remote Cisco UCM clusters does not have 'Standard AXL API Access- added.

Answer: BC

NEW QUESTION 157
Refer to the exhibit

A collaboration engineer is configuring Jabber for Windows in softphone mode inside the corporate firewall The engineer initially tests the dient by manually setting
the account type and the login server domain name Everything works as expected Next the engineer resets Jabber and attempts to log in using automatic settings
and receives an error
Which two items must be modified to resolve the issue? (Choose two.)

A. DNS A record for _cisco-uds
B. DNS SRV record for _collab-edge
C. username portion of the login email
D. domain portion of the login email
E. DNS SRV record for_cisco-uds

Answer: AE

NEW QUESTION 159
An engineer is configuring a Cisco Voicemail organization. How many links be configured between two Cisco unity connection Clusters?

A. One
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B. Two
C. Three
D. Four

Answer: A

NEW QUESTION 164
What is the primary mechanism in Cisco Unity Connection that is used for toll fraud prevention?

A. restriction tables
B. fraud tables
C. transfer rules
D. calling search spaces

Answer: A

NEW QUESTION 169
Which service must be activated on Cisco Unity Connection to utilize LDAP synchronization?

A. Cisco Tomcat
B. Cisco Sync Agent
C. Cisco DirSync
D. Cisco RIS Data Collector

Answer: C

NEW QUESTION 174
A collaboration engineer troubleshoots an Issue with Cisco IM and Presence federated with Microsoft Skype for Business. A Cisco Jabber user reports being
unable to see the presence status of a user on Microsoft Skype for Business when searching for the Microsoft user. Which action resolves this issue?

A. Disable TLS for the federation.
B. Configure the federation to use the XMPP protocol.
C. Add a static route on Cisco IM and Presence to the Skype for Business domain.
D. Have the Jabber user add the Skype for Business user to the Jabber contact list.

Answer: A

NEW QUESTION 179
Refer to the exhibit.

An organization is moving from on-premise Exchange to Microsoft Office 365 for email and calendaring. The administrator would like to maintain meeting presence
functionality in Jabber clients connected to Cisco IM and Presence after this move. Office 365 certificates must be installed to accomplish this. Which two trust
stores should these certificates be uploaded to on Cisco IM and Presence? (Choose two.)

A. cup-xmpp- trust
B. xmpp-fed-trust
C. cup-trust
D. tomcat-trust
E. xmpp- rust

Answer: AC

NEW QUESTION 183
An administrator is configuring call handlers in Cisco Unity Connection. The administrator must ensure that internal extensions are restricted so that callers must
go through the company operator to reach employees, and so that callers hear an error message if they attempt to dial extensions directly. Which setting is
configured to accomplish this task?

A. Transfer Rules
B. Caller Input
C. Greetings
D. Message Settings

Answer: B

NEW QUESTION 187
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Which CLI command is used to collect traces from the Cisco Presence engine for seven days?

A. file build log cisco_presence_engine 7
B. file build log cisco_presence 168
C. file build log presence_engine 7
D. file build log presence_engine 168

Answer: A

NEW QUESTION 189
How is automatic fallback enabled on a Cisco IM and Presence server?

A. In IM and Presence Service Parameter Configuration > Cisco Server Recovery Manager, change the Failover parameter to True.
B. In Communications Manager Service Parameter Configuration > Cisco Server Recovery Manager, change the Enable Automatic Fallback parameter to True.
C. Automatic fallback is enabled by default.
D. In the Presence Redundancy Group Configuration > Cisco Unified Communications Manager, check the Enable Automatic Fallback parameter.

Answer: B

NEW QUESTION 193
......
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